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dG = (3G | 9T ) pdT + (0G| 0P)p dP = —SdT + VdP
£ (dG 1 9T)p =-S, (8G1dP)y =V
dA = (A dT)ydT +(dA/ aV)pdV = -SdT — PdV
(9A1AT)y =-S, (90A/9V)p =-P
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AG,, = G (P) - Gy (B) =f:2%dP = RTf:zd?P =RTIn(P, / P,)
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BRESIADELIREE: P = P =1atm (101.325 kPa = 0.1 MPa)
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AG = G(P,products) — G(R,reactants)
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AG = G(P,products) — G(R,reactants)
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dA=-SdT - PdV, . (3S/aV)p = (9P 13T)y,
dG = -SdT +VdP,  ..—~(3S/9P)p = (3V /oT)p
dU =TdS - PdV, (ﬂ) =T(£) _p=T(£) _p
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van der Waals' equation : (V —nb) = nRT
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van der Waals' equation: (P / 8T)V =nR/(V —nb)

T, nC \72 R
.-.A5=f2" T " \av=n
LT v \v_nb

HEERBELERATELOEICH, BOZPRBABRINERT S,

P+(?£) (ﬂ) =T(£) (ﬂ) ) osmE)
av)p\NoT /p aT )}y \aT ) p WV/ir

(BB KIKE van der Waals TiE)

Clen&+Rln(V2;nb\
’ T; k 1~ M

1

Cp-Cy =




(5) van der Waals 5 {ADREEER (FEERFRE) o <5E>

nRT

—————+nb
P+an/V)

*van der Waals’ equation : y -
{ENP—ET WMBERET TRHSL, BETD
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